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QUESTION 1

Regarding the CE series switches on an SDN network, which of the following statements are true about their application
in data centers? (Choose all that apply.)

A. A CE series switch can connect to a server as a TOR.

B. The network between TORs and core switches must be an ECMP-enabled Layer 3 network.

C. The network between TORs and core switches must be a Layer 2 network that runs MSTP to prevent loops.
D. The network between TORs and core switches can be either a Layer 2 or a Layer 3 network.

Correct Answer: AD

QUESTION 2

In terms of the SDN architecture, the ONF does not recommend carriers to change the existing network architecture, but
the IETF recommends carriers to do so.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 3

The OpenStack architecture comprises which of the following components? (Choose all that apply.)
A. Nova

B. Neutron

C. Cinder

D. NetMatrix

Correct Answer: ABC

QUESTION 4

Currently, the packet forwarding efficiency of Layer 3 switches is greatly improved. Which of the following may be the
cause?

A. By using higher-performance hardware

B. By using the "routing once and switching multiple times" forwarding technology
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C. By using packet-to-packet forwarding technology
D. By dividing the VLAN to effectively suppress broadcast storms and save bandwidth and other system resource.

Correct Answer: D

QUESTION 5

NetStream is implemented by NE software. When the traffic is heavy, device performance may be affected.
A. TRUE

B. FALSE

Correct Answer: B
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